JDSF DanceSport Grand Prix in Shizuoka 2010 2010/07/11
The Result of Standard Final

Solo Dance(Waltz)

TES PCS(Original) Deduction Decision Total
1 2 3
[P8] Loss of | Dancing| ... Long | Dress )
QM MM] [cP] oss of | Dancing
Posture, [PS] Balance Delayed| Early Disconti time Cord Deducti Total
Balance, Quality of Movement to Partnering Skl Choreography loss Fall start | finish connect| out of nuation Error Disconti Violatio TES PCS on points
. Movement music and Presentation)| ion time
No |Judge Base Value Base Value Base Value Coordination nuance n
A 5.00 450 5.00 450 550| 0 0 0 0 0 0 0 0 0 0
B . 0 " 550 500 550 500 450| o 0 0 0 0 0 0 0 0 0
¢ | oo | puatfeon | mvatleom| 20 5% 2w @l pooooo0 0 o o o
7 [WS=0]{HPE=0] | [WS=0][HPE=0] | [WS=0][HPE=0] : - ! g -
E DWE=OJINV=0] | WE=O]INV=0] | [WE=0][NV=0] 450 500 450 6.00 500| 0 0 0 0 0 0 0 0 0 0 | 2900 [2470 | 000 | 53.70
F [FPE=-1] [FPE=0] [FPE=0] 500 450 5.00 500 500| 0 0 0 0 0 0 0 0 0 0
G 550 450 550 550 450| o 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 9.00 10.00 10.00 5.10 | 4.70 | 5.00 | 5.00 | 49 0 [ o T o T o Toe Te T o o [ o To
A 6.00 6.00 6.00 550 600] 0 0 0 0 0 0 0 0 0 0
B 1 " " 6.00 6.00 6.00 6.50 550 0 0 0 0 0 0 0 0 0 0
c 550 550 5.00 500 550 0 0 0 0 0 0 0 0 0 0
D [BV=10][GD=0] | [BV=10][GD=0] | [BV=10][GD=0] 6.00 550 500 550 500 © 0 0 0 0 0 0 0 0 0
2 [WS=0]{HPE=0] | [WS=0][HPE=0] | [WS=0][HPE=0] : : : : :
E IWE=OJNV=0] | TWR=OJNV=0] | [W=0J[NV=0] 650 6.50 650 6.00 600 0 0 0 0 0 0 0 0 0 o |[3000 [ 2830 [ 000 | 5830
F [FPE=0] [FPE=0] [FPE=0] 6.00 6.00 6.00 550 550 0 0 0 0 0 0 0 0 0 0
G 550 550 5.00 500 500 0 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 10.00 10.00 10.00 5.90 | 5.80 | 5.60 [ 550 | 550] 0 [ o [ o [ o [ o [ o [ o [ o [ o [ o
A 550 6.00 6.00 6.50 550 0 0 0 0 0 0 0 0 0 0
B 6.00 5.50 550 5.50 500 0 0 0 0 0 0 0 0 0 0
c Ly 9 LAy 550 6.00 550 6.00 55| 0 0 0 0 0 0 0 0 0 0
D [BV=101[GD=0] ( [BV=10][GD=0] | [BV=101[GD=0] 6.00 6.00 550 550 450| 0 0 0 0 0 0 0 0 0 0
34 [WS=0][HPE=0] | [WS=0][HPE=0] | [WS=0]{HPE=0]
E TWE=OJNV20] | WP-T]0NV=0] | WF=OJ[NV=0] 6.00 5.50 6.00 6.00 500 0 0 0 0 0 0 0 0 0 o |[2000 [ 2850 [ 000 | 5750
F [FPE=0] [FPE=0] [FPE=0] 6.00 6.00 6.00 6.00 550 0 0 0 0 0 0 0 0 0 0
G 550 5.50 550 6.00 600| 0 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 10.00 9.00 10.00 5.80 | 5.80 | 5.70 5.90 | 530] 0 [ o [ o [ o [ o [ o [ o [ o [ o [ o0
A 7.00 7.00 7.00 6.50 700 0 0 0 0 0 0 0 0 0 0
B . " " 7.00 7.00 650 6.00 700 0 0 0 0 0 0 0 0 0 0
c 650 7.00 6.50 6.00 650 0 0 0 0 0 0 0 0 0 0
D [BV=10][GD=0] | [BV=10][GD=0] | [BV=10][GD=0] 6.00 7.00 7.00 7.00 700| © 0 0 0 0 0 0 0 0 0
ur e WEE=AILTE=) | WS | [DESLE=) 700 650 650 650 500 o 0 0 0 0 0 0 0 0 0 | 2800 | 3330 | 000 | 61.30
[WF=0][NV=0] | [WF=0][NV=0] | [WF=0][NV=0] 8 - - - 8 ; : : d
F [FPE=0] [FPE=0] [FPE=0] 650 6.50 7.00 6.50 700 0 0 0 0 0 0 0 0 0 0
G 650 6.50 650 6.50 600 0 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 8.00 10,00 10,00 6701 6.80 | 6701 640 | 670] 0 [ 0 [ 0 [ 0 [ 0o [ 0 [ o0 ] o0 [ o0 ] o
A 6.00 550 550 550 600 0 0 0 0 0 0 0 0 0 0
B 7.00 650 6.00 6.00 600| 0 0 0 0 0 0 0 0 0 0
c Ly 8 LAy 550 5.00 550 6.00 55| 0 0 0 0 0 0 0 0 0 0
D [BV=101[GD=0] ( [BV=10][GD=0] | [BV=101[GD=0] 6.50 6.50 5,00 6.00 650| 0 0 0 0 0 0 0 0 0 0
1o g WHEE|FIPE=] || W= | (S0 lreE=0) 450 450 550 450 500 0 0 0 0 0 0 0 0 0 o |l2800 [ 2880 | 000 | 56.80
[WF=0][NV=0] | [WF=0][NV=0] | [WF=0][NV=0] - g - g 8 : : : d
F [FPE=0] [FPE=0] [FPE=0] 6.00 5.50 550 5.50 600| 0 0 0 0 0 0 0 0 0 0
G 6.00 6.00 550 6.00 550 0 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 10.00 8.00 10.00 6.00 | 5.70 | 550 [ 5.80 | 580] 0 [ o [ o [ o [ o [ o [ o [ o [ o [ o0
A 750 5.00 6.00 6.00 550 0 0 0 0 0 0 0 0 0 0
B " " " 450 500 5.00 550 500| 0 0 0 0 0 0 0 0 0 0
0 00 ! .00 !
c (ev=ijjen=a] | vetolien=o] | Evetoien=o; 5.00 50 550 50 550 0 0 0 0 0 0 0 0 0 0
D = . = = = = 450 450 5.00 500 500| 0 0 0 0 0 0 0 0 0 0
158 g WHEEIIIAES) || IMESRILRE] | [LEEA= 500 550 500 450 450| 0 0 0 0 0 0 0 0 0 0 |/2000 | 2450 | 000 | 5450
[WF=0][NV=0] | [WF=0][NV=0] | [WF=0][NV=0] b - b g : : ; : -
F [FPE=0] [FPE=0] [FPE=0] 450 450 450 500 450| o 0 0 0 0 0 0 0 0 0
G 450 450 5.00 500 450| o 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 10.00 10.00 10.00 4.60 | 4.80 | 5.10 [ 5.10 | 49 0 [ o [T o [T o T o T o [T o [T o [ o [ o
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